
ΘΕΜΑ	
  Β	
  
	
  
Ι.	
  Το	
  αίμα	
  μας	
  αποτελείται	
  από	
  το	
  πλάσμα	
  και	
  από	
  τα	
  έμμορφα	
  συστατικά	
  που	
  
αιωρούνται	
  μέσα	
  σε	
  αυτό.	
  Να	
  απαντήσετε	
  στις	
  ερωτήσεις:	
  

α)	
  Ποιες	
  είναι	
  οι	
  τρεις	
  κατηγορίες	
  κυττάρων	
  που	
  αποτελούν	
  τα	
  έμμορφα	
  συστατικά	
  
του	
  αίματος;	
  (3μ)	
  

β)	
  Ποια	
  από	
  τις	
  κατηγορίες	
  κυττάρων	
  του	
  α.	
  ερωτήματος	
  συμμετέχει	
  στην	
  πήξη	
  του	
  
αίματος;	
  Ποια	
  είναι	
  η	
  μορφή	
  τους;	
  (3μ)	
  

γ)	
  Ποια	
  από	
  τις	
  κατηγορίες	
  κυττάρων	
  του	
  α.	
  ερωτήματος	
  παίζουν	
  σημαντικό	
  ρόλο	
  
στην	
  άμυνα	
  του	
  οργανισμού	
  μας;	
  Ποια	
  από	
  αυτά	
  είναι	
  ικανά	
  για	
  τη	
  διαδικασία	
  της	
  
διαπίδυσης;	
  (3μ)	
  

δ)	
  Ποια	
  από	
  τις	
  3	
  κατηγορίες	
  κυττάρων	
  του	
  α.	
  ερωτήματος	
  διαθέτουν	
  πυρήνα,	
  ποια	
  
όχι;	
  (3μ)	
  

	
  
ΙΙ.	
  Μια	
  πολλαπλή	
  κύηση	
  έχει	
  συνήθως	
  ως	
  αποτέλεσμα	
  τη	
  γέννηση	
  διδύμων	
  που	
  
μπορεί	
  να	
  είναι	
  του	
  ίδιου	
  ή	
  διαφορετικού	
  φύλου.	
  	
  

α)	
   Αν	
   τα	
   δύο	
   δίδυμα	
   είναι	
   διαφορετικού	
   φύλου,	
   σε	
   ποια	
   ιδιαίτερη	
   κατηγορία	
  
διδύμων	
  ανήκουν;	
  Πώς	
  προκύπτουν	
  δίδυμα	
  που	
  ανήκουν	
  σε	
  αυτήν	
  την	
  κατηγορία;	
  	
  
(5μ)	
  

β)	
  Αν	
  τα	
  δίδυμα	
  είναι	
  του	
  ίδιου	
  φύλου	
  και	
  μοιάζουν	
  «σαν	
  δύο	
  σταγόνες	
  νερό»	
  σε	
  
ποια	
  κατηγορία	
  διδύμων	
  ανήκουν;	
  Πώς	
  προέκυψαν	
  τα	
  δίδυμα	
  αυτά;	
  (5μ)	
  

γ)	
   Σε	
   ποια	
   περίπτωση	
   αυξάνεται	
   η	
   πιθανότητα	
   για	
   πολλαπλές	
   κυήσεις;	
   Για	
   ποιο	
  
λόγο;	
  (3μ)	
  	
  

	
  
	
  
ΘΕΜΑ	
  Δ	
  
	
  
Ένας	
   βιολόγος	
   μελετά	
   τη	
   δράση	
   δύο	
   ουσιών,	
   της	
   αδρεναλίνης	
   και	
   της	
  
πιλοκαρπίνης	
  στο	
  Α.Ν.Σ.	
  δύο	
  πειραματόζωων.	
  	
  

	
  
• Στο	
  πειραματόζωο	
  Α	
  χορηγεί	
  αδρεναλίνη,	
  ενώ	
  	
  
• Στο	
  πειραματόζωο	
  Β	
  χορηγεί	
  πιλοκαρπίνη.	
  

	
  
Λαμβάνοντας	
   υπόψη	
   ότι	
   το	
   Α.Ν.Σ.	
   των	
   πειραματόζωων	
   λειτουργεί	
   όπως	
   το	
  
Α.Ν.Σ.	
   του	
   ανθρώπου	
   και	
   ότι	
   η	
   αδρεναλίνη	
   διεγείρει	
   τη	
   δράση	
   του	
  



Συμπαθητικού	
   Νευρικού	
   Συστήματος,	
   ενώ	
   η	
   πιλοκαρπίνη	
   τη	
   δράση	
   του	
  
Παρασυμπαθητικού	
  Νευρικού	
  Συστήματος,	
  να	
  απαντήσετε	
  στις	
  ερωτήσεις:	
  
	
  

I. Ποια	
   επίδραση	
   θα	
   έχει	
   η	
   χορήγηση	
   της	
   αδρεναλίνης	
   στην	
   συχνότητα	
   του	
  
καρδιακού	
  παλμού	
  και	
  στο	
  εύρος	
  της	
  κόρης	
  του	
  πειραματόζωου	
  Α,	
  ποια	
  επίδραση	
  
θα	
  έχει	
  η	
  χορήγηση	
  πιλοκαρπίνης	
  στην	
  συχνότητα	
  του	
  καρδιακού	
  παλμού	
  και	
  στο	
  
εύρος	
  της	
  κόρης	
  του	
  πειραματόζωου	
  Β.	
  Να	
  αιτιολογηθεί	
  η	
  απάντησή	
  σας.	
  	
  	
  

	
  
II. Το	
   Α.Ν.Σ.	
   των	
   πειραματόζωων,	
   αν	
   και	
   διατηρεί	
   κάποιο	
   βαθμό	
   ελευθερίας	
  

ελέγχεται	
   από	
   τον	
   εγκέφαλο.	
   Να	
   αναφέρετε	
   δύο	
   τμήματα	
   του	
   εγκεφάλου	
   που	
  
ελέγχουν	
  τη	
  δράση	
  του	
  Α.Ν.Σ.	
  παραθέτοντας	
  σχετικά	
  παραδείγματα.	
  (12+13μ)	
  

	
  
	
  
	
  


